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Section - I (English)

Q.No: 1 Fill in the blank with the correctly spelled word:
The pianist's performance was flawless, showcasing her exceptional __________ on the grand piano.

Profecieny

Proficency

Profficiency

Proficiency

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to the
loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation is
often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

What role do trees play in addressing climate change?

Intensifying the greenhouse effect

Releasing carbon dioxide

Absorbing carbon dioxide and releasing oxygen

Contributing to deforestation

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to the
loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation is
often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

How does deforestation impact biodiversity?

Enhances biodiversity

Has no impact on biodiversity

Leads to the loss of biodiversity

Promotes ecosystem stability

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to the
loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation is
often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

What environmental consequence is not mentioned in the paragraph regarding deforestation?

Loss of biodiversity

Ecosystem disruption

Increase in soil fertility

Contribution to climate change

Q.No: 5 Choose the correct option that completes the sentence logically and grammatically:
She arrived early ____________ the traffic jam.

when

despite

however

because

Q.No: 6 Choose the correct part of speech for the underlined word in the sentence.
The actress delivered an emotional monologue in the film.

Adjective

Noun

Verb

Adverb

Q.No: 7 What is the word for "A person who writes music, especially as a profession"?

Musician

Composer

Singer

Conductor

Q.No: 8 Identify the correctly punctuated sentence:

The cat jumped over the fence.

The, cat jumped over the fence.

The cat jumped over, the fence

The (cat) jumped over the fence.

Q.No: 9 Choose the correct option that completes the sentence logically and grammatically:
We planned to go to the beach, ________ the weather was not favourable.

and

but

so

because

Q.No: 10 Choose the correct future tense form:
We _______ the new movie next weekend.

watched

watches

watching

will watch

Q.No: 11 Arrange the following jumbled words into a coherent order:
A. Made
B. Of
C. Jacket
D. The
E. Was
F. Leather

C-E-A-B-D-F

E-D-F-A-B-C

D-F-E-A-B-C

D-C-E-A-B-F

Q.No: 12 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

They greet me cheerfully every morning.

I am greeted cheerfully by them every morning.

Every morning I was greeted cheerfully.

I am greeting them cheerfully every morning.

Cheerful greeting is done by them every morning to me.

Q.No: 13 Select the correct plural form of "appendix":

appendix's

appendices

appendixs

appendixa

Q.No: 14 Choose the correct part of speech for the underlined word in the sentence.
She quickly completed her homework.

Adjective

Verb

Adverb

Noun

Q.No: 15 What does the word "obstinate" mean?

Compliant

Stubborn

Flexible

Easy-going

Q.No: 16 Choose the correct meaning of "pernicious":

Detrimental

Harmless

Beneficial

Tenacious

Q.No: 17 Choose the option to correctly complete the sentence in the past perfect tense:
As soon as I ________ the library, the closing bell rang.

entered

had entered

will enter

was entering

Q.No: 18 Choose the correct part of speech for the underlined word in the sentence.
He quietly asked me to leave the house.

Verb

Adverb

Adjective

Noun

Q.No: 19 My father repaired the car yesterday. Choose the option which gives this sentence in the passive voice.

Yesterday, my father repaired the car.

The car repaired by my father yesterday.

The car was repaired by my father yesterday.

My father repairs the car yesterday.

Q.No: 20 Choose the correct article in English grammar that completes the sentence:
I have __ cold.

a

the

an

No Article Required

Q.No: 21 Choose the correct meaning of the idiom or phrase underlined in the sentence:
The sudden change in plans threw a spanner in the works.

Improved the situation

Completed the project

Caused a problem

Simplified the process

Q.No: 22 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
She isn't from London, __________?

is she

doesn't she

isn't she

does she

Q.No: 23 Which punctuation mark is used to indicate possession or to show that something is missing letters?

Apostrophe

Hyphen

Quotation marks

Colon

Q.No: 24 What is the antonym of "Flexible"?

Bendable

Supple

Elastic

Rigid

Q.No: 25 Choose the most appropriate synonym for the underlined word in the given sentence.
The thief evaded capture by using the back alleys of the city

confronted

assisted

surrendered

avoided

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Not Answered

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Not Answered

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Not Answered

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 If twice Ram's age is decreased by
9 is the same age as his age
increased by 15. How old is Ram?

24 years

26 years

22 years

28 years

Q.No: 52 If a letter is chosen at random from the
word "MATHEMATICS", what is the
probability that it is a consonant?

11/7 11/7

6/11 6/11

7/11 7/11

1 1

Q.No: 53 Out of 120 Oranges in the crate, 80% were
good and rest of them were rotten. How
many oranges were rotten?

96 96

24 24

12 12

74 74

Q.No: 54 The ratio of 50 seconds to 1 hour is _____.

Q.No: 55
If you randomly choose a day of the week, what is
the probability that it is a Friday?

1/6 1/6

1/7 1/7

1/5 1/5

1/4 1/4

Q.No: 56 Person A incurs a loss of 20% by
selling an article for Rs.3000. At
what price should the article be
sold to earn a 20% profit?

Rs. 4000 Rs. 4000

Rs. 3750 Rs. 3750

Rs. 4250 Rs. 4250

Rs. 4500 Rs. 4500

Not Answered

Q.No: 57 What will be the
compound interest accrued
on a sum of Rs.3500 at
the rate of 8% per annum
in 2 years?

Rs. 526.4 Rs. 526.4

Rs. 562.4 Rs. 562.4

Rs. 528.4 Rs. 528.4

Rs. 582.4 Rs. 582.4

Not Answered

Q.No: 58

Q.No: 59 What is the Least Common Multiple (LCM) of 8, 20
and 30 ?

160 160

100 100

120 120

142 142

Q.No: 60 What is the Highest Common Factor (HCF) of 8 and
64?

8 8

2 2

4 4

6 6

Q.No: 61 If the cost price of an
article is Rs.125 and
the selling price is
Rs.100, what is the
loss percentage?

10% 10%

30% 30%

25% 25%

20% 20%

Q.No: 62 Find the simple interest on
Rs.12000 at 5% per annum for 3
years. Find the total amount?

Q.No: 63 Sita is 15 years old. What will her age be in 5 years?

30 years

20 years

15 years

25 years

Q.No: 64 A motorist travels one
hour at an average speed
of 45 kmph and the next
hour at an average speed
of 65 kmph. Then what is
his average speed?

50 kmph 50 kmph
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50 kmph 50 kmph

55 kmph 55 kmph

40 kmph 40 kmph

110 kmph 110 kmph

Q.No: 65 How many kilometers can the bus
cover in 3 hours if it travels at the
speed of 60 km/hr?

100 km 100 km

90 km 90 km

20 km 20 km

180 km 180 km

Q.No: 66 What percent of 120 is 90?

75% 75%

65% 65%

70% 70%

80% 80%

Q.No: 67 A takes twice as much
time as B or thrice as
much time as C to finish a
piece of work. Working
together they can finish
the work in 2 days. B can
do the work alone in :

12 days 12 

8 days 8 

6 days 6 

4 days 4 

Not Answered

Q.No: 68 The average of five numbers is 90. If each
number is divided by 3, what is the new
average?

30 30

60 60

90 90

45 45

Q.No: 69 In a container, the ratio of Green
balls to Yellow balls is 5:4. If there
are 36 balls in total, how many
Yellow balls are there?

Q.No: 70 If 30 machines can assemble
some gadgets in 20 days, how
many machines will be required to
assemble the same gadgets in 15
days?

Q.No: 71
A shopkeeper sells a table at a loss of 12%. If the
cost price is Rs.1500, what is the selling price?

Rs. 1220 Rs. 1220

Rs. 1350 Rs. 1350

Rs. 1320 Rs. 1320

Rs. 1290 Rs. 1290

Q.No: 72

Q.No: 73

Q.No: 74

Q.No: 75 The average of eleven numbers is 68. If the
mean of the first six numbers is 65, what is
the mean of the last five numbers?

68 68

65 65

72.6 72.6

71.6 71.6

Not Answered

Section - IV (General Knowledge)

Q.No: 76 Who among the following is NOT a recipient of Bharat
Ratna?

Pranab Mukherjee

Karpoori Thakur

Mahatma Gandhi

M S Swaminathan

Q.No: 77 Which of the following scientists discovered
the Dynamite?

Elisha Otis

Alfred Nobel

Richard Jordan Gatling

George Westinghouse

Q.No: 78 Smart cities mission is comes under which Ministry?

Ministry of Home affairs

Ministry of finance

Ministry of Housing and Urban Affairs

Ministry of forest and climate change

Q.No: 79 Yonex Cup is related to which sport?

Volley ball

Badminton

Cricket

Field Hockey

Q.No: 80 When is the 'National science Day' observed?

May 1

April 12

March 27

February 28

Q.No: 81 Who is the author of 'Rajtarangini'?

Amarasimha

Kalidasa

Chanakya

Kalhana

Q.No: 82 FRINJEX-23 is the first-ever joint
military exercise between India and
which country?

Australia

China

Canada

France

Not Answered

Q.No: 83 When did Odia got classical language status?

Q.No: 84 The maximum force is
exerted on a current carrying
conductor when it is:

Swings in forward direction

Perpendicular to magnetic field

Parallel to magnetic field

Swings in backward direction

Q.No: 85 The Kilimanjaro volcano is situated in:

Zambia

Tanzania

Somalia

Nigeria

Q.No: 86 In order to recycle, we must :

retain our waste

reclaim our waste

reduce our waste

segregate our waste

Q.No: 87 Who was the founder of Nyaya philosophy?

Kapila

Patanjali

Vyasa

Gautama

Q.No: 88 Who appoints the Comptroller and Auditor General
of India?

The Vice President

The Prime Minister

The Parliament

The President

Q.No: 89 Who is the first Governor of Portuguese in India?

Lord Canning

Afonso de Albuquerque

Hector Munro

Francisco de Almeida

Q.No: 90 Speed of sound does not depend upon:

Temperature of the medium

Elasticity of the medium

Pressure of the medium

Density of the medium

Q.No: 91 Article 1 of the universal declaration of
human rights deals with :

Right to liberty

Free and equal

Freedom from slavery

Freedom from discrimination

Q.No: 92 First women to get Bharat Ratna is ______.

Indira Gandhi

Latha Mangeshkar

Sarojini Naidu

Prathiba Patil

Q.No: 93 Where is the headquarters of "United
Nations Security Council (UNSC)"?

New York

Vienna

Paris

Geneva

Q.No: 94 Which among the following
regulates housing finance
companies in India?

Housing and Development Boards

National Housing Bank

National Bank for Agriculture and Rural
Development.

Reserve Bank of India

Q.No: 95 Amnesty International has its headquarters at
_________.

Geneva

Paris

London

Berlin

Not Answered

Q.No: 96 In which year was Bhagat Singh martyred?

Q.No: 97 Which two countries are connected by the Khyber
Pass?

Pakistan and Afghanistan

Afghanistan and China

India and Pakistan

Pakistan and China

Not Answered

Q.No: 98 Kudremukh Iron Ore project is located in which
State?

Andhra Pradesh

Tamil Nadu

Karnataka

Kerala

Q.No: 99 The Kaziranga National Park is in ______.

Madhya Pradesh

Assam

Uttarakhand

Haryana

Q.No: 100
GIS stands for:

Global Institute for Soils

Geographical Information Systems

Global Information Statistics

Geographical International Studies

Section - V (Computer Knowledge)

Q.No: 101 The main function of
computer software is to turn
data into _______.

Memory

Information

Process

Program

Q.No: 102 Free of cost repair of
software bug available at
Internet is called ______.

Patch

Add-on

Tutorial

Repair

Q.No: 103 What is the full form of ISDN?

Internal System Digital Network

Internal Services Digital Network

Integrated Services Digital Network

Integrated System Digital Network

Not Answered

Q.No: 104 An
operating
system
version
designed
for use
with a
media
center
PC in
Microsoft
Windows
XP is:

Media center edition

System edition

Tablet PC edition

Home edition

Q.No: 105 What is full form of PNG ?

Pretty Network Graphic

Portable Network Graphics

Portable Network Graph

Portable Natural Graphic

Q.No: 106 Moving from one website to another is
known as _________.

Uploading

Browsing

Transferring

Changing

Q.No: 107 The part of e-mail that contains actual contents
is called ________.

Address

Body

Signature

Subject

Q.No: 108
ARPANET stands for _______.

Advanced Resource Projects Agency Network

Advanced Research Projects Automatic Network

Advanced Research Program Agency Network

Advanced Research Projects Agency Network

Q.No: 109 Fifth generation computers are based on :

VVSLI

Artificial Intelligence

Programming

System knowledge

Q.No: 110 Which of the
following
option is the
shortcut key
to increase
line spacing in
MS Word?

Q.No: 111 The size of a usual UDP header is ______ .

64 bytes

32 bytes

16 bytes

8 bytes

Not Answered

Q.No: 112 Which function would
you use to capture the
contents of an open
window?

Clip art

Icon set

Smart art

Screenshot

Q.No: 113 Which of the following is NOT an
advantage of Wireless Communication?

Security

Mobility

Flexibility

Low maintenance

Q.No: 114 What kind of network does Bluetooth represent?

WPAN WPAN

WAN WAN

CAN CAN

MAN MAN

Q.No: 115 The first bar of MS-Word is :

Menu bar

Formatting toolbar

Status bar

Title bar

Q.No: 116 Who invented AI?

Charles Babbage

Alan Turing

John McCarthy

Jordan Murn

Q.No: 117 Which of the following natural
element is the primary element in
computer chips?

Silicon

Iron

Uranium

Carbon

Q.No: 118 Which of the following is not an option of Edit
menu?

Paste

Page Setup

Copy

Cut

Q.No: 119 Which one is an example of spread sheet software?

MS Power point

MS Excel

MS Word

MS Access

Q.No: 120 POP3 is the most
commonly used protocol
for receiving email over
the internet. What does
POP stand for?

Post Of Protocol

Programming Of Protocols

Post Office Protocol

Post Office Proctor

Q.No: 121 Which device is used to listen audio?

Speakers

Dynamic

Condenser

Microphone

Not Answered

Q.No: 122 The front page /main page of a website is
called ___________.

Bookmark

First page

Homepage

Search page

Q.No: 123 Which of the following is not a search engine?

Yahoo

Bing

Google

Windows

Q.No: 124
HTML is used to create ________.

Programs

Web server

Information



Web page

Q.No: 125 The process of making changes to
an existing document is referred to
as _______ it.

Changing

Editing

Creating

Modifying

Section - VI (General Science)

Q.No: 126 Fish and frogs laying eggs in water is an example
of:

Asexual reproduction

Viviparous development

External fertilization

Internal fertilization

Q.No: 127
Which of the following elements is a good
example of a non-metal?

Iron

Oxygen

Copper

Aluminum

Q.No: 128 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 129
Somatostatin primarily inhibits the release of
which hormone from the anterior pituitary?

Luteinizing hormone (LH)

Thyroid-stimulating hormone (TSH)

Follicle-stimulating hormone (FSH)

Growth hormone (GH)

Q.No: 130
Which of the following materials is a good
insulator of electricity?

Aluminum

Rubber

Silver

Copper

Q.No: 131 The scientific name of cheetah is :

Gazella bennettii

Acinonyx jubatus

Vicugna pacos

Ursus maritimus

Not Answered

Q.No: 132
Cutting a stem from one plant and growing it into a
new plant is an example of:

Pollination

Asexual reproduction

Fragmentation

Sexual reproduction

Q.No: 133
Humans need regular hydration to maintain
proper bodily functions. How does adequate
water intake specifically affect the circulatory
system?

Decreases blood volume, leading to lower blood
pressure.

Optimizes blood volume and maintains blood pressure
for efficient circulation

Thickens the walls of blood vessels, improving their
structural integrity

Increases blood viscosity, making it thicker and harder
to pump.

Not Answered

Q.No: 134 The reaction between an acid and a base is known
as:

Hydrolysis

Precipitation

Neutralization

Oxidation-reduction

Q.No: 135 Metals tend to have ________ boiling points
compared to non-metals.

Higher

Equal

Lower

Variable

Q.No: 136 Which one of the following is a secondary pollutant?

Nitric oxide

Mercury

Carbon dioxide

Ozone

Q.No: 137 What type of heart structure does most of the
Amphibians have?

2 chambers

1 chambers

3 chambers

4 chambers

Q.No: 138
Which of the following is a method for conserving
water resources?

Discharging untreated wastewater into rivers

Allowing leaks in water supply systems

Over-irrigating agricultural fields

Promoting drip irrigation techniques

Q.No: 139 Which of the following is a consequence of
deforestation?

Enhanced groundwater recharge

Decreased biodiversity

Increased carbon sequestration

Improve soil erosion

Q.No: 140
Give a balanced chemical equation for reaction of
non-metal oxide with a base.

Q.No: 141
Which of the following is a non-renewable source
of energy?

Wind

Sun

Coal

Ocean

Not Answered

Q.No: 142 Which of the following organisms
derives its nutrition directly from
other organisms?

Plants

Algae

Tape Worm

All Bacteria

Q.No: 143
What happens to the speed of light when it travels
from air into water?

It decreases

No change

It remains the same

It increases

Q.No: 144 The Human Genome Project aimed to:

Map the complete sequence of human DNA

Identify genes associated with specific diseases

Develop new methods for genetic engineering

Understand the origin of human evolution

Q.No: 145 Vertebrates are distinguished from invertebrates
by the presence of:

Backbone

Cell walls

Chitinous exoskeleton

Bilateral symmetry

Not Answered

Q.No: 146

If a bulb rated at 60W is connected to a 120V
power supply, what is the current flowing through
it?

0.5A

10A

5A

2A

Q.No: 147
Which of the following statements is NOT true
about solids?

They are easily compressible.

Solids have a high density.

They have a definite shape and volume.

Their particles are tightly packed and have very little
movement.

Not Answered

Q.No: 148 Ozone contains 3 molecules of _________

Nitrogen

Oxygen

Carbon dioxide

Sulphate

Q.No: 149 What is the hardest substance in the human body?

Enamel

Muscle

Skin

Bone

Q.No: 150 What is the basic unit of our neural system?

Neuron

Nucleon

Nephron

Neutron


